Directionsâ€”(Q. 41â€“55) Read the following passage carefully and answer the questions given below it. Certain words are given in bold to help you to locate them while answering some of the questions.
A large majority of the poor in India are outside the formal banking system. The policy of financial inclusion sets out to remedy this by making available a basic banking â€˜no frillsâ€™ account either with nil or very minimum balances as well as charges that would make such accounts accessible to vast sections of the population. However, the mere opening of a bank account in the name of every household or adult person may not be enough, unless these accounts and financial services offered to them are used by the account holders. At present, commercial banks do not find it viable to provide services to the poor especially in the rural areas because of huge transaction costs, low volumes of savings in the accounts, lack of information on the account holder, etc. For the poor, interacting with the banks with their paper work, economic costs of going to the bank and the need for flexibility in their accounts, make them turn to other informal channels or other institutions. Thus, there are constraints on both the supply and the demand side. 

Till now, banks were looking at these accounts from a purely credit perspective. Instead, they should look at this from the point of view of meeting the huge need of the poor for savings. Poor households want to save and contrary to the common perception, do have the funds to save, but lack control. Informal mutual saving systems like the Rotating Savings and Credit Associations (ROSCAs), widespread in Africa and â€˜thrift and credit groupsâ€™ in India demonstrate that poor households save. For the poor household, which lacks access to the formal insurance system and the credit system, savings provide a safety net and help them tide over crises. Savings can also keep them away from the clutches of moneylenders, make formal institutions more favourable to lending to them, encourage investment and make them shift to more productive activities, as they may invest in slightly more risky activities which have an overall higher rate of return. 

Research shows the efficacy of informal institutions in increasing the savings of the small account holders. An MFI in the Philippines, which had existing account holders, was studied. They offered new products with â€˜commitment featuresâ€™. One type had withdrawal restrictions in the sense that it required individuals to restrict their right to withdraw any funds from their own accounts until they reached a self-specified and documented goal. The other type was deposit options. Clients could purchase a locked box for a small fee. The key was with the bank and the client has to bring the box to the bank to make the deposit. He could not dip into the savings even if he wanted to. These accounts did not pay extra money and were illiquid. Surprisingly, these products were popular even though these had restrictions. Results showed that those who opted for these accounts with restrictions had substantially greater savings rates than those who did not. The policy of financial inclusion can be a success if financial in 

clusion focuses on both saving needs and credit needs, having a diversified product portfolio for the poor but recognising that self-control problems need to be addressed by having commitment devices. The products with commitment features should be optional. Furthermore transaction costs for the poor could be cut down, by making innovative use of technology available and offering mobile vans with ATM and deposit collection features which could visit villages periodically. 

41. What is the aim of the financial inclusion policy ?
(A) A focus on savings needs rather than credit needs of the poor
(B) Minimising utilisation of technology in banks so as to reduce transaction costs for the poor
(C) To boost low savings volumes in banks by encouraging savings among the rural poor
(D) To make formal basic banking services available to the poor
(E) To regulate the rate at which moneylenders lend to the poor 

42. The authorâ€™s main objective in writing the passage is toâ€”
(A) Criticise the concept of financial inclusion
(B) Point out the problems of financial inclusion
(C) Discuss ways of making the financial inclusion policy successful
(D) Compare financial inclusion policies of different countries
(E) Cite research in support of role of MFIs in achieving financial inclusion 

43. Which of the following can be inferred about products with commitment features ?
1. Demand for such products was high.
2. They were an effective means of increasing the savings of small account holders.
3. Such facilities can only be offered by informal institutions like MFIs.
(A) All 1, 2 and 3 (B) Only 2
(C) Both 1 and 2 (D) Both 1 and 3
(E) None of these 

44. Why do the poor not utilise banking services ?
1. Informal institutions offer higher rates of interest than those in banks.
2. Costs of reaching banks have to be borne by the poor.
3. Bank personnel do not treat the poor respectfully because their savings amounts are minimal.
(A) Only 2 (B) Both 1 and 2
(C) Both 2 and 3 (D) All 1, 2, and 3
(E) None of these 

45. Which of the following is a recommendation made by the author regarding financial inclusion ?
(A) Reduce the paper work involved by seeking less information about the account holder
(B) Lower transaction costs by utilising latest technology.
(C) Make commitment features compulsory for all savings accounts
(D) Entrust the responsibility of financial inclusion solely to MFIs
(E) Provide credit facilities even to those without savings accounts 

46. Which of the following factors affects â€˜savingâ€™ behaviour among the poor ?
1. Threats from moneylenders if they avail of banking services.
2. Documentation required before availing of banking services.
3. Lack of self-control.
(A) Only 1 (B) All 1, 2 and 3
(C) Only 3 (D) Both 2 and 3
(E) None of these 

47. What do the results of the study conducted in the Philippines indicate ?
(A) Account holders in MFIs have higher savings rates than banks
(B) Many of the poor have to turn to moneylenders because of strict restrictions in MFIs
(C) Having accounts with restriction on withdrawal requires the bank to offer a higher rate of interest
(D) There should be strong security measures for deposit option accounts for the poor
(E) None of these 

48. Which of the following is true in the context of the passage ?
(A) There are no informal means for the poor to save in India
(B) Having savings encourages the poor to invest only in low risk ventures
(C) There is a huge demand for savings facilities among poor households
(D) Presently commercial banks feel that it is feasible to provide banking services to the poor in rural areas
(E) There are many official innovative savings systems like roscas in Africa 

49. What is/are the outcome(s) of encouraging savings for the poor ?
1. It frees them from the exploitation of moneylenders.
2. Banks are more willing to disburse loans to those who save.
3. They should invest in risky but high return ventures.
(A) Only 1
(B) Both 1 and 2
(C) Only 3
(D) All 1, 2 and 3
(E) None of these 

50. What was the view of banks regarding the bank accounts of the poor in the past ?
(A) They were considered a problem since account holders information needed to be updated constantly
(B) Focus should be more on providing savings facilities not credit
(C) Moneylenders should be regulated so that they share responsibility of disbursing loans to the poor
(D) Products with commitment features will not be successful
(E) None of these 

Directionsâ€”(Q. 51â€“53) Choose the word which is most nearly the same in meaning as the word printed in bold as used in the passage. 

51. purely :
(A) morally
(B) honestly
(C) completely
(D) perfectly
(E) cleanly 

52. demonstrate :
(A) protest
(B) occur
(C) estimate
(D) appear
(E) prove 

53. remedy :
(A) medicine
(B) solve
(C) restore
(D) therapy
(E) heal
Directionsâ€”(Q. 54-55) Choose the word which is most opposite in meaning of the word printed in bold as used in the passage. 

54. optional :
(A) voluntary
(B) compromise
(C) pressure
(D) mandatory
(E) free 

55. accessible :
(A) convenient
(B) unavailable
(C) unfavourable
(D) unpleasant
(E) formal 

Directionsâ€”(Q. 56â€“65) Read each sentence to find out whether there is any error in it. The error, if any, will be in one part of the sentence. The letter of that part is the answer. If there is no error, the answer is (E). (Ignore errors of punctuation, if any). 

56. The scheme failed because / some states could not / manage not to raise / the necessaryfunds. No error. 
(A) (B) (C) (D) (E) 

57. Real estate prices in the / business district of the city / are expected to rise / at 15% this year. No error 
(A) (B) (C) (D) (E) 

58. By so early as next year / that leading investment bank / has plans to open / an office in New Delhi. No error
(A) (B) (C) (D) (E) 

59. There is lots of / supports from the employees / for the proposal to / merge with the parent company. No error
(A) (B) (C) (D) (E) 

60. Experts have recommended that / the government reconsidered / restrictions imposed on foreign / investment in real estate. No error
(A) (B) (C) (D) (E) 

61. The crucial point to / be discussed at the / meetings is how to / well implement the policy.No error
(A) (B) (C) (D) (E) 

62. He wants to / set up a laboratory / to undertake research / into a vaccine for cancer. No error
(A) (B) (C) (D) (E) 

63. According to him / two factors which are / needy for success / are discipline and diligence. No error
(A) (B) (C) (D) (E) 

64. Because of the pace at / which the company is growing / I believe it will easily / achieve their target. No error
(A) (B) (C) (D) (E) 

65. It is truth / that India is / the largest consumer of / gold in the world. No error
(A) (B) (C) (D) (E) 

Directionsâ€”(Q. 66â€“70) Which of the phrases (A), (B), (C) and (D) given below should replace the phrase given in bold in the following sentence to make the sentence grammatically meaningful and correct. If the sentence is correct as it is and â€˜No correction is requiredâ€™, mark (E) as the answer. 

66. The bank is overstaffed, has led to low productivity.
(A) Led to (B) Will lead towards
(C) And has led in (D) Which has led to
(E) No correction required 

67. You delay in taking a decision conveys a negative impression.
(A) You delay to take
(B) If you delay taking
(C) Your delay in taking
(D) To delay by taking
(E) No correction required 

68. Today management student itself are opted to work for NGOs even though the salaries offered to them are low.
(A) Student itself is
(B) Students themselves are
(C) Students have
(D) Student himself has
(E) No correction required 

69. Absence off any guidelines, they are unwilling to take up the project.
(A) Absent of
(B) In the absence of
(C) Because of the absence
(D) Without being absent
(E) No correction required 

70. Without the development of rural people the country can no claim to be developed.
(A) Can never claim
(B) Being claimed
(C) Not able to claim
(D) Have not any claim
(E) No correction required 

Directionsâ€”(Q. 71â€“75) In each question below a sentence with four words printed in bold type is given. These are lettered as (A), (B), (C) and (D). One of these four words printed in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word, which is wrongly spelt or inappropriate, if any. The number of that word is your answer. If all the words printed in bold are correctly spelt and also appropriate in the context of the sentence, mark (E) i.e.. â€˜All Correctâ€™ as your answer. 

71. The organization preferred to hire locale population as they understood the language and customer preferences. All Correct
(A) (B) (C) (D) (E) 

72. In our opinion the exicting assessment system requires immediate revision.All Correct
(A) (B) (C) (D) (E) 

73. In responds to the advertisement a sizeable number of candidates have submitted their applications. All Correct
(A) (B) (C) (D) (E) 

74. There is no guarantee that if this model is adopted the entire sector will prosper.All Correct
(A) (B) (C) (D) (E) 

75. With this unique initiative the company hopes to sustain its current growth rate. All Correct
(A) (B) (C) (D) (E) 

Directionsâ€”(Q. 76â€“80) In each of the following sentences there are two blank spaces. Below each five pairs of words have been denoted by letters (A), (B), (C), (D) and (E). Find out which pair of words can be filled up in the blanks in the sentence in the same sequence to make the sentence meaningfully complete. 
 

76. Mr. Srinivasan is â€¦â€¦ to become Chairman of the group â€¦â€¦ the retirement of his father.
(A) set, following
(B) voted, subsequent
(C) selected, despite
(D) approved, because
(E) decided, after 

77. â€¦â€¦ to your error the â€¦â€¦ consignment has been delayed by a week.
(A) According, important
(B) Duly, urgent
(C) Owing, entire
(D) Added, crucial
(E) Admitting, special 

78. On account of the â€¦â€¦ in sales the software firm has achieved an eight percent â€¦â€¦ in net profit.
(A) surge, fall (B) increase, rise
(C) decline, slope (D) hike, loss
(E) growth, advance 

79. We are proud to say that today â€¦â€¦ 26 percent of our total accounts are â€¦â€¦ by women and senior citizens.
(A) approximate, held
(B) nearly, authorised
(C) over, maintain
(D) above, open
(E) around, operated 

80. The company has â€¦â€¦ special training to employees on â€¦â€¦ to trade online.
(A) announced, benefits
(B) offered, course
(C) imparted, risks
(D) sanction, skills
(E) provided, how
Directions—(Q. 1–12) Read the following passage carefully and answer the questions given below it. Certain words have been printed in bold to help you locate them while answering some of the questions. 

Keshava, the washerman had a donkey. They worked together all day, and Keshava would pour out his heart to the doneky. One day, Keshava was walking home with the donkey when he felt tired. He tied the donkey to a tree and sat down to rest for a while, near a school. A window was open, and through it, a teacher could be heard scolding the students. ‘Here I am, trying to turn you donkeys into human beings, but you just won’t study !’ As soon as Keshava heard these words, his ears pricked up. A man who could actually turn donkeys into humans ! This was the answer to his prayers. Impatiently, he waited for school to be over that day. when everyone had gone home, and only the teacher remained behind to check some papers, Keshava entered the classroom. 

‘How can I help you ?’ asked the teacher. Keshava scratched his head and said, ‘I heard what you said to the children. This donkey is my companion. If you made it human, we could have such good times together.’ The teacher decided to trick Keshava. He pretended to think for a while and then said, ‘Give me six months and it will cost you a thousand rupees.’ The washerman agreed and rushed home to get the money. He then left the donkey in the teacher’s care. 

After the six months were up, Keshava went to the teacher. The teacher had been using the donkey for his own work. Not wanting to give it up, he said, ‘Oh, your donkey became so clever that it ran away. He is the headman of the next village.’ When Keshava reached the next village he found the village elders sitting under a tree, discussing serious problems. How surprised they were when Keshava marched up to the headman, grabbed his arm and said, ‘How dare you ? You think you are so clever that you ran away ? Come home at once !’ 

The headman understood someone had played a trick on Keshava. ‘I am not your donkey !’ he said. ‘Go find the sage in the forest.’ Keshava found the sage sitting under a tree with his eyes closed, deep in meditation. He crept up and grabbed the sage’s beard. ‘Come back home now !’ he shouted. The startled sage somehow calmed Keshava. When he heard what had happened, he had a good laugh. Then he told the washerman kindly, ‘The teacher made a fool of you. Your donkey must be still with him. Go and take it back from him. Try to make some real friends, who will talk with you and share your troubles. A donkey will never be able to do that !’ Keshava returned home later that day with his donkey, sadder and wiser. 

1. Which of the following can be said about the teacher ?
(A) He had the ability to transform animals into human beings
(B) He took advantage of Keshava’s simple nature
(C) He had plotted with the village headman to cheat Keshava
(D) He enjoyed teaching children though he was poorly paid
(E) He was honest and used Keshava’s money to care for the donkey
Ans : (B) 

2. Why did Keshava talk to his donkey while working ?
(A) He wanted to practise his communication skills because he wanted to make friends
(B) To entertain himself because he found his work monotonous
(C) The donkey helped him to find answers to his problems
(D) He regarded the doneky as his friend and confided in him
(E) He believed the donkey to be a human being in disguise
Ans : (E) 

3. How did Keshava get his donkey back ?
(A) He threatened to take the teacher to the village elders
(B) The sage forced the teacher to release the donkey
(C) He asked the village headman for help
(D) The teacher returned it on learning that Keshava had learnt his lesson
(E) None of these
Ans : (E) 

4. Which of the following is NOT true in the context of the passage?
(a) The donkey was over burdened by the teacher.
(b) The teacher was cunning by nature.
(c) The sage laughed at Keshava and treated him unkindly.
(A) Both (a) & (c)
(B) Both (b) & (c)
(C) Only (b)
(D) All (a), (b) & (c)
(E) None of these
Ans : (A) 

5. Why was Keshava keen to meet the teacher one day ?
(A) Keshava wanted to ask the teacher how to make his donkey a better companion
(B) He wanted to learn more prayers as he was devout
(C) He had been reliably informed that the teacher had changed donkeys into human beings
(D) He heeded the teacher’s words of advice and wanted to study
(E) None of these
Ans : (A) 

6. Why did Keshava interrupt the discussion among the village elders ?
(A) He did not agree with their views on different issues
(B) To confront the headman who had cheated him out of one thousand rupees
(C) He wanted them to get justice for him
(D) He was looking for the donkey and wanted to ask for directions
(E) None of these
Ans : (E) 

7. What made Keshava pull the sage’s beard ?
(A) He wanted to wake up the sage who was a sleep under the tree
(B) The headman requested him to move the sage from under the tree
(C) He wanted the sage to explain what had happened to the donkey
(D) He misunderstood the village headman and took the sage to be his donkey
(E) None of these
Ans : (D) 

8. Why did the teacher ask Keshava to leave the donkey with him for six months ?
(a) He realised that the donkey would require a lot of training.
(b) To reduce Keshava’s dependence on the donkey.
(c) He wanted to rescue the donkey from Keshava who did not know to treat the donkey properly.
(A) None
(B) Only (b)
(C) Both (a) & (b)
(D) Only (c)
(E) None of these
Ans : (A) 

Directions—(Q. 9–10) Choose the word which is MOST SIMILAR in MEANING to the word printed in bold as used in the passage. 

9. trick
(A) joke
(B) skill
(C) mislead
(D) technique
(E) lunny
Ans : (C) 

10. remained
(A) pending
(B) waited
(C) lasted
(D) survived
(E) continued
Ans : (D) 

Directions—(Q. 11–12) Choose the word which is MOST OPPOSITE in MEANING to the word printed in bold as used in the passage. 

11. real
(A) false
(B) imitated
(C) dishonest
(D) imagine
(E) genuine
Ans : (A) 

12. deep
(A) low
(B) distracted
(C) flat
(D) awake
(E) sleep
Ans : (B) 

Directions—(Q. 13–17) Which of the phrases (A), (B), (C) and (D) given below each sentence should replace the phrase printed in bold in the sentence to make it grammatically correct ? If the sentence is correct as it is given and ‘No Correction is Required’, mark (E) as the answer. 

13. The company has set up a foundation which helps students who do not have the necessary funds to study ahead.
(A) further to study
(B) of studying more
(C) to study onward
(D) for higher studies
(E) No Correction Required
Ans : (D) 

14. If this land is used to cultivate crops it will be additionally source of income for the villagers.
(A) a source of additional
(B) an additionally source
(C) an additional source
(D) additionally the source
(E) No Correction Required
Ans : (C) 

15. Belonged to this cadre, you are eligible for facilities such as free air travel and accommodation.
(A) since you belong to
(B) whoever belongs
(C) for belonging to
(D) to belong in
(E) No Correction Required
Ans : (A) 

16. The bank has hired a consultant who will look into any issues which arise during the merger.
(A) is looking over
(B) will be looked after
(C) will look out
(D) looks down on
(E) No Correction Required
Ans : (E) 

17. I had severe doubts about if I successfully run a company, but my father encouraged me.
(A) if I am successful in
(B) how should I successfully
(C) whether I could successfully
(D) that I would succeed to
(E) No Correction Required
Ans : (C) 

Directions—(Q. 18–22) In each question below a sentence with four words printed in bold type is given. These are lettered as (A), (B), (C) and (D). One of these four words printed in bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or inappropriate if any. The letter of that word is your answer. If all the words printed in bold are correctly spelt and also appropriate in the context of the sentence, mark (E) i.e. ‘All Correct’ as your answer. 

18. RBI has attempted (A) to spend (B) financial (C) awareness (D) through this programme. All Correct (E)
Ans : (B) 

19. In order to succeed (A) it is crucial (B) for an organisation to constantly (C) improve. (D) All Correct (E)
Ans : (E) 

20. With some assistance (A) from her son she was enable (B) to settle (C) her debts (D) on time. All Correct (E)
Ans : (B) 

21. Though the government initiated (A) a large sum (B) of money in the scheme (C) it was a failure. (D) All Correct (E)
Ans : (A) 

22. We have prepared a detailed (A) report giving various (B) solutions (C) to resort (D) the problem. All Correct (E)
Ans : (D) 

Directions—(Q. 23–27) Rearrange the following six sentences (a), (b), (c), (d), (e) and (f) in the proper sequence to form a meaningful paragraph; then answer the questions given below them.
(a) I was pleased by their reaction.
(b) Writing my speech was easy, but I was unsure if I could motivate the employees to donate to those affected by the earthquake.
(c) Instead of throwing out their unusable articles, they had transferred them to my office in the name of donations.
(d) When a reputed company invited me to deliver a lecture on Corporate Social Responsibility, I agreed.
(e) It was an affluent company and the well dressed employees who met me afterwards promised to send lots of donations to my office.
(f) What I saw however when I opened the bags of ‘donations’ they had sent shocked me. 

23. Which of the following should be the SECOND sentence after rearrangement ?
(A) (b)
(B) (c)
(C) (d)
(D) (e)
(E) (f)
Ans : (A) 

24. Which of the following should be the THIRD sentence after rearrangement ?
(A) (a)
(B) (b)
(C) (c)
(D) (d)
(E) (e)
Ans : (E) 

25. Which of the following should be t h e FOURTH sentence after rearrangement ?
(A) (a)
(B) (b)
(C) (c)
(D) (d)
(E) (e)
Ans : (A) 

26. Which of the following should be the LAST (SIXTH) sentence after rearrangement ?
(A) (b)
(B) (c)
(C) (d)
(D) (e)
(E) (f)
Ans : (B) 

27. Which of the following should be the FIRST sentence after rearrangement ?
(A) (a)
(B) (b)
(C) (c)
(D) (d)
(E) (e)
Ans : (D) 

Directions—(Q. 28–32) Read each sentence to find out whether there is any grammatical error or idiomatic error in it. The error, if any, will be in one part of the sentence. The letter of that part is the answer. If there is no error, the answer is (E).
(Ignore errors of punctuation, if any.) 

28. He has travelled (A) / all over the world (B) / yet he speaks (C) / several languages fluently. (D) No error (E)
Ans : (C) 

29. A successful company is (A) / any that makes a good (B) / profit and provides (C) / high returns to its shareholders. (D) No error (E)
Ans : (B) 

30. The agreement on (A) / which all of us have (B) / worked so hard will (C) / be sign tomorrow. (D) No error (E)
Ans : (D) 

31. It is necessarily to maintain (A) / a record of all transactions (B) / in case the auditors (C) / want to see it. (D) No error (E)
Ans : (A) 

32. Very few young trainees (A) / willingly undertake (B) / a posting to a branch (C) / located in a rural area. (D) No error (E)
Ans : (E) 

Directions—(Q. 33–40) In the following passage there are blanks, each of which has been numbered. These numbers are printed below the passage and against each, five words are suggested, one of which fits the blank appropriately. Find out the appropriate word in each case. 

Today, twenty-two years after the bank …(33)…, it has over a thousand branches all over the country and the staff …(34)… about twentythree lakh borrowers. We decided to operate …(35)… from conventional banks who would ask their clients to come to their office. Many people in rural areas found this …(36)…. Our bank is therefore based on the …(37)… that people should not come to the bank but that the bank should go to the people. Our loans are also …(38)… we give them for activities from candle making to tyre repair. We also keep …(39)… checks on the borrower through weekly visits. We do this to make certain that the family of the borrower is …(40)… from the loan. 

33. (A) origin
(B) commence
(C) existed
(D) began
(E) inaugurated
Ans : (E) 

34. (A) assemble
(B) cope
(C) interact
(D) deal
(E) handle
Ans : (E) 

35. (A) differently
(B) similar
(C) reverse
(D) opposite
(E) identically
Ans : (A) 

36. (A) worried
(B) upset
(C) panicking
(D) anxious
(E) threatening
Ans : (D) 

37. (A) principle
(B) discipline
(C) opportunity
(D) chance
(E) advantage
Ans : (A) 

38. (A) worth
(B) vary
(C) disburse
(D) contrast
(E) diver
Ans : (B) 

39. (A) consistently
(B) regular
(C) often
(D) frequently
(E) daily
Ans : (B) 

40. (A) benefiting
(B) serving
(C) welfare
(D) obliged
(E) progress
Ans : (A)
